

Invoice #1331

Created: 1/25/2022 10:38 AM PST Invoiced: 2/10/2022 12:51 PM PST

Service Writer: Erika Smith

J&E Ellison Family LTD Partnership

7012 Rancho La Cima Drive Rancho Santa Fe, CA 92067 Mobile: (760) 535-1258 john.ellison.jr@att.net

1994 ROLLS ROYCE Silver Spur (White)

VIN:

SCAZN02C0RCX54213

Mileage In:

48,676

Mileage Out:

48,684

PSI:

FL30 FR30 RL32 RR32

Customer Comments	Recommendations
Dent at rear of trunk Right rear door window stuck down Front brake calipers are leaking fluid Rear suspension hydraulic struts are leaking Problem with brake accumulators AC doesn't blow cold Airbag warning light on Antenna is stuck Interior lighting doesn't come on for all doors Passenger seat won't adjust. NFF=working at this time Gas refill door does not open (only manually) Working	Inquire with Auto Armour for "dent guy" contact info

Fro	nt brake calipers are leaking				
	Description	Price	QTY	HRS	Subtotal
1	R&R and overhaul front brake calipers. Fit new pads			6	\$1,050.00
2	Caliper kit Part #: CD5972GMFR	\$90.85	1		\$90.85
3	Brake pads Part #: UR73208	\$445.93	1		\$445.93
4	O-ring Part #: A90025K137	\$3.75	8		\$30.00
5	Parts Cleaner Berrymans	\$13.18	1		\$13.18
6	Shipping				\$132.19
				Total	\$1,762.15

Hyc	draulic brake pumps are leaking				
	Description	Price	QTY	HRS	Subtotal
1	Reseal both hydraulic brake pump sleeves. Clean affected area.			7	\$1,225.00
2	Brake pump reseal kits Part #: RH2897R	\$36.25	2		\$72.50
3	Feed pipe seal Part #: GMF1023R	\$3.75	2		\$7.50
4	Parts Cleaner Berrymans	\$13.18	1		\$13.18
				Total	\$1,318.18

Hydraulic brake pump feed hoses are leaking



Invoice #1331

Hyc	fraulic brake pump feed hoses are leaking				
	Description	Price	QTY	HRS	Subtotal
1	Replace pump feed hoses and insulation sleeves. Fit new clamps			2	\$350.00
2	Pump feed hose Part #: GMF1200R	\$78.20	1		\$78.20
3	Pump feed hose Part #: GMF1199R	\$76.19	1		\$76.19
4	Insulation sleeves Part #: UR70345R, UR22131R	\$15.00	1		\$15.00
5	Hose clamp Part #: Various size	\$2.65	4		\$10.60
				Tota	l: \$529.99

Bra	ke accumulators are partially depressurized				
	Description	Price	QTY	HRS	Subtotal
1	Replace brake spheres and seals			1.5	\$262.50
2	Brake spheres Part #: CD6000GMFR	\$109.25	2		\$218.50
3	Sphere seals Part #: GMF1225R	\$4.00	2		\$8.00
				Tota	ıl: \$489.00

Acc	cumulator return hoses are leaking				
	Description	Price	QTY	HRS	Subtotal
1	Replace accumulator return hoses and insulation sleeves.			5	\$875.00
2	Accumulator return hose Part #: GMF1313R	\$113.45	1		\$113.45
3	Accumulator return hose Part #: GMF1299R	\$136.85	1		\$136.85
4	Hose clamp Part #: Various size	\$2.65	4		\$10.60
				Total:	\$1,135.90

Bra	ke distribution cover has fluid leaking		
	Description	HRS	Subtotal
1	R&R distribution cover and identify location of leak. Clean cover	1	\$175.00
		Tota	l: \$175.00

All brake hoses are original				
Description	Price	QTY	HRS	Subtotal



Invoice #1331

Created: 1/25/2022 10:38 AM PST Invoiced: 2/10/2022 12:51 PM PST

Service Writer: Erika Smith

All	brake hoses are original			
1	Replace all brake hoses due to age. 8 years is hoses	the life span for these		6.5 \$1,137.50
2	Front brake hose Part #: GMF1323R	\$63.10	2	\$126.20
3	Rear brake hose Part #: GMF1324R	\$51.75	4	\$207.00
4	Leveling hose Part #: GMF1218R	\$111.38	1	\$111.38
				Total: \$1,582.08

	Description	Price	QTY	HRS	Subtotal
1	Replace both rear struts, mounts and drain tubes			6	\$1,050.00
2	Strut Part #: GMF1311R	\$715.00	2		\$1,430.00
3	Sphere seal Part #: GMF1225R	\$2.50	2		\$5.00
4	Gas spring Part #: GMF1106R	\$119.60	1		\$119.60
5	Housing seal Part #: GMF 1262	\$4.45	2		\$8.90

	Description	Price	QTY	HRS	Subtotal
1	Left rear door is not turning on interior lights. Remove door panel to gain access to micro switch and test			2.3	\$402.50
2	Micro switch CDL Part #: UD7343R	\$142.60	1		\$142.60

	aust support bracket hardware is missing		
	Description	HRS	Subtota
1	Fit required hardware for catalytic converter support and adjust.	0.5	\$87.50
		To	tal: \$87.50

Driv	ve belts are loose and cracked				
	Description	Price	QTY	HRS	Subtotal
1	Replace engine drive belts			3.5	\$612.50



Invoice #1331

Driv	e belts are loose and cracked			
2	Air pump belt Part #: SPC3722	\$28.16	1	\$28.16
3	A/C compressor belt Part #: SPC3682	\$62.80	1	\$62.80
4	Alternator belt	\$46.34	1	\$46.34
5	PAS belt set	\$127.03	1	\$127.03
				Total: \$876.83

Con	nplete fluid service				
	Description	Price	QTY	HRS	Subtotal
1	Perform complete fluid service. Engine oil and filter, transmission service, differential oil service, flush hydraulic system, flush cooling system			4	\$700.00
2	RR Oil filter Part #: 07V121717A	\$40.04	1		\$40.04
3	20w50 Engine Oil Part #: LM20114	\$11.23	9		\$101.07
4	RR Drain plug washer Part #: WHT002909R	\$2.20	3		\$6.60
5	85w90 Liqui Moly Hypoid Part #: LM 20010	\$18.55	2.75		\$51.01
6	Dexron III Transmission oil Part #: 88865544	\$8.08	5		\$40.40
7	Hydraulic mineral fluid Part #: RH15215R	\$18.75	5	hiter .	\$93.75
8	Coolant (Green) Part #: WP-851742	\$16.88	2		\$33.76
9	Radiator drain plug	\$8.65	2		\$17.30
10	MOC washer fluid Part #: 61131	\$4.95	1		\$4.95
11	MOC parts wash Part #: MOC	\$5.99	1		\$5.99
				Total:	\$1,094.87

Per	form complete vehicle inspection and estimate repair items		
	Description	HRS	Subtotal
1	Perform complete vehicle inspection and estimate repair items	2	\$350.00
		Tota	1: \$350.00

Dent	in rear	face of	hont	hil
Delle	III I Cai	lace of	DOOL	HG.



Invoice #1331

Den	t in rear face of boot lid				
	Description	Price	QTY	HRS	Subtota
1	De-trim for pointless dent removal			0.5	\$87.5
2	Paintless dent removal	\$400.00			\$400.0
				Tota	l: \$487.50
Righ	nt rear window is inoperative				
	Description	Price	QTY	HRS	Subtota
1	Remove door panel to access window motor. Remove window motor to inspect and repair drive system			3	\$525.0
2	Drive coupling Part #: UD71409R	\$21.60	1		\$21.60
				Tota	l: \$546.60
Air	conditioning does not blow cold				
	Description	Price	QTY	HRS	Subtota
1	Diagnose A/C system. Evacuate and charge system. Check for leaks and none found at this time. 53 degree duct temp=Good			2.5	\$437.50
2	R134a freon Part #: R143a	\$20.00	2.2		\$44.00
				Tota	l: \$481.50

Airt	pag warning light is on		
	Description	HRS	Subtotal
1	Diagnose airbag light. 2104 code logged for drivers squib. Clear fault and monitor for return of fault.	1	\$175.00
		Tota	l: \$175.00

Rad	lio antenna not fully extending		
	Description	HRS	Subtotal
1	Free off antenna mast and clean. lubricate and ensure proper operation	0.2	\$35.00
		To	tal: \$35.00

Bat	tery is incorrect				
	Description	Price	QTY	HRS	Subtotal
1	Replace battery with correct amperage battery			0.5	\$87.50
2	MT-24	\$149.95	1		\$149.95
				Tota	l: \$237.45

David Nutley Automotive BAR Registration No. ARD298541 EPA Identification No. CAL000461491 5155 Convoy Street, Suite B San Diego, CA 92111 (858) 774-4734 admin@dn-automotive.com

Thank you for your business. The work is complete and your payment is due upon

Invoice #1331

Created: 1/25/2022 10:38 AM PST Invoiced: 2/10/2022 12:51 PM PST Service Writer: Erika Smith

Totals only include authorized services

pickup of the vehicle. Mechanics liens may be placed on vehicles until repairs are paid for in full. Please contact us promptly if you have any questions about anything we		
did.	Parts\$4,365.96	
	Labor \$9,625.00	
	Subcontract \$400.00	
Signature	Subtotal \$14,523.15	
	Fees \$132.19	
	Tax\$0.00	
	Grand Total \$14,523.15	
	Paid To Date (\$14,523.15)	
	REMAINING BALANCE \$0.00	

Payments			
3/18/2022	Credit card ending in 2000		\$9,523.15
2/7/2022	Cash	Deposit received for parts	\$5,000.00

Needs Response

Ren	nove and refit rear parcel shelf panels for recovering		
	Description	HRS	Subtotal
1	Remove and refit rear parcel shelf panels for recovering. R&R rear seats to do so.	2.5	\$437.50
		Tota	l: \$437.50

Left	t rear wheel stud and nut missing, fit bellisher and new clips				
	Description	Price	QTY	HRS	Subtotal
1	Fit replacement wheel stud and nut and fit all new bellisher clips and 1 new ring			1	\$175.00
2	Left wheel stud Part #: SPC3399	\$37.69	1		\$37.69
3	Left wheel nut Part #: UG4455	\$67.41	1		\$67.41
4	Wheel Clip plastic	\$3.39	24		\$81.36
5	Wheel Clip	\$6.84	19		\$129.96
6	Wheel Trim Ring	\$274.85	1		\$274.85
7	Shipping				\$60.76
				Tota	l: \$827.03

Install new rear door speakers while door panels are off for repairs					
Description	Price	QTY	HRS	Subtotal	



Invoice #1331

Inst	tall new rear door speakers while door panels are off for repairs				
1	Remove rear door speakers while other work is being performed. Disassemble speaker from housings and modify and fit new speakers. Rewire for new speakers			1	\$175.00
2	Rear speakers	\$75.00	1		\$75.00
				Tota	l: \$250.00



Invoice #1480

Created: 5/19/2022 01:50 PM PDT Invoiced: 5/20/2022 08:51 AM PDT Service Writer: David Nutley

J&E Ellison Family LTD Partnership

7012 Rancho La Cima Drive Rancho Santa Fe, CA 92067 Mobile: (760) 535-1258 john.ellison.jr@att.net

1994 ROLLS ROYCE Silver Spur (White)

SCAZN02C0RCX54213

Last Recorded Mileage: 48,684

Mileage: 48,835

Customer Comments

Install new wheel ring and attach all with adhesive

	Description	Price	QTY	HRS	Subtota
1	Replace missing wheel ring, clean all rings and clips and secure all with adhesive.	11100	q.,	0.75	\$131.25
2	Wheel trim ring Part #: UE71653R	\$274.85	1		\$274.85

Thank you for your business. The work is complete and your payment is due upon pickup of the vehicle. Mechanics liens may be placed on vehicles until repairs are paid for in full. Please contact us promptly if you have any questions about anything we

Signature

Parts	\$274.85
Labor	\$131.25
Subtotal	\$406.10
Tax	\$0.00
Grand Total	\$406.10
Paid To Date	(\$406.10)
REMAINING BALANCE	\$0.00

Payments		
5/20/2022	Visa	\$406.10

EVANS TIRE & SERVICE CENTERS

FREE OIL CHANGES / EXCLUSIVE DISCOUNTS & SPECIALS Text EVANSTIRE to 833-669-0337

Evans Tire & Service Centers 330 N. El Camino Real Encinitas, CA 92024 (760)942-2162

PAGE 1

Customer ID: 3114067691

Name:

JOHN ELLISON

Address:

NA

Address 2:

City, State, Zip Code: ENCINITAS, CA, 92024

Home Phone: (760) 535-1258 Work Phone: () -

Mobile Phone: () -Tax Exempt #:

Year: Make: Model:

94 ROLLS-ROYCE

SILVER SPIRIT II 36653

Lic No:

VIN: 1 Color:

WHITE

Engine: Mileage In: 48686 Mileage Out: 48686 Create Date:

01/13/22 13:26:29 Date/Time:

Workorder #: Invoice #:

01/18/22 13:32:06 409352

227897

na

Email Address:

PO Number: Fleet/Wholesale: N

EPA#: BAR #: CAL000440225 ARD00292322

Salesperson: R. CHIRIKDJIAN

Service comments:

TIRE PRESSURE: LF 35 RF 35 LR 35 RR 35 SPARE NA

TREAD DEPTH: LF 11/32 RF 11/32 LR 11/32 RR 11/32 SPARE NA/32

BRAKE PAD THICKNESS: LF 8 RF 8 LR 8 RR 8

REVISED ESTIMATE AUTHORIZATION(S):

AUTH, BY:

DATE: 01-18-22

TIME: 8:22 AM

CONTACT: JOHN ELLISON PREVIOUS EST: 0.00

ADD. AMT: REV EST:

421.26 421.26

Work Authorized: 4 TIRES

APPROVED BY:

FINAL INVOICE APPROVAL:

Qty.	Part #	RFR	Loc	Description	Parts	Labor	Tota
4	24750005			MS775 Touring SLE MILE P225/75R15 SL102S SL WW	91.00	0.00	364.00
	DOT Numbers: 25	2522	2522	2 2522			
4	TPP			TIRE PROTECTION POLICY	17.29	0.00	69.16
4	21-173			RUBBER VALVE STEM	2.99	0.00	11.96
4	MB			MOUNT & BALANCE TIRE	0.00	24.00	96.00
4 4 4	TDF			TIRE DISPOSAL FEE	6.50	0.00	26.00
4	CTDF			CALIFORNIA TIRE RECYCLING FEE	1.75	0.00	7.00
1	WRT			of the order of the order of the	0.00	0.00	0.00
				CUSTOMER IS RESPONSIBLE TO RETURN VEHICLE AFTER 25-100 MILES TO HAVE ALL LUG NUTS RETORQUED TO MANUFACTURERS SPECIFICATIONS.			0.00
1	RSA			Your tire purchase comes with a	0.00	0.00	0.00
				Emergency Roadside Assistance membership. For details, see the back of this invoice.			
1	B2G2			BUY 2 GET 2 DISCOUNT	(182.00)	0.00	(182.00
1	KMCC			CALL CENTER - KARL M.	0.00	0.00	0.00
1	APC				0.00	0.00	0.00
(%)	1.585.170			Free Air Pressure Check	0.00	0.00	0.00

SEE NEXT PAGE

EVANS TIRE & SERVICE CENTERS

FREE OIL CHANGES / EXCLUSIVE DISCOUNTS & SPECIALS
Text EVANSTIRE to 833-669-0337

Evans Tire & Service Centers 330 N. El Camino Real Encinitas, CA 92024 (760)942-2162

PAGE 3

Customer ID: 3114067691 Name: JOHN ELLISON

Address:

Address 2:

City, State, Zip Code: ENCINITAS, CA, 92024

Home Phone: (760) 535-1258

Work Phone: () -Mobile Phone: () -Tax Exempt #:

Year: Make: Model:

Lic No:

VIN: 1

Color:

94 ROLLS-ROYCE

SILVER SPIRIT II 36653

WHITE

Engine: 48686 Mileage In: Mileage Out: 48686 Create Date:

01/13/22 13:26:29 Date/Time: 01/18/22 13:32:06

Workorder #: 409352 Invoice #: 227897

Email Address: na PO Number: Fleet/Wholesale: N

EPA#: BAR #:

CAL000440225 ARD00292322

Salesperson: R. CHIRIKDJIAN

Qty.	Part #	RFR	Loc	Description		Parts	Labor	Total
1	CC			LF RF LR LF_ INST. 1/18 @ 8:30AM SEE ROGER	Sub-total:	0.00 296.12	0.00 96.00	0.00 392.12

*** Customer Wishes To Discard Old Parts

CREDIT CARD #: XXXX-XXXX-XXXX-2000

APPROVAL # : 884032

TICKET#

APPLABEL: AMERICAN EXPRESS

AID: A000000025010801 TVR: 0800008000 IAD: 06580103A0A000

TSI: E800

ARQC: E6E56C0F8F3667D0

ARC: 00 CVM: S

Thank you for your business. Please visit WWW.EVANSTIRE.COM for coupons and additional warranty information.

TECH: 005695-0.00

Our goal is a PERFECT 5/5 score. If we haven't earned that, please call Customer Service at 760-579-4470

PAY AMEX AMOUNT 421.26

SHELTON

PARTS TOTAL SALES TAX LABOR TOTAL **GRAND TOTAL** 296.12 29.14 96,00

421.26

Thanks for your business. INVOICE INVOICE Evans Tire & Service Centers INVOICE INVOICE